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Par-41- 23 | LA

If a:b=x:y then invertendo property is _ 4.:»’4}7:! azb=x:y Ji | (1)
by LA e I g b
piellC) by GC a=b: " x-y @) ;—;(A)

Find x inproportion 4:x::5:15 ,,.‘::_‘aﬁp‘-‘ x £ 4ixii5:1S ot | ()

75

) 5 © 12 (B -7 W
- ‘(5x+4Y =252 + 40x + 16 LV | (3)
i"»Jx(B) One value of x =il x (A)
- ¢-tndsA-B InacB S| @
B-AM 0@ B® A®

The identity (Sx+4)* = 25x + 40x + 16 is true for .
All values of x UJ}(UJx(D)'Iheevalucsofx u:)de(C)Twova.lueso
If AC B, then A-Biscqual to '

The set {x|x € W A x < 101} is called b {xIx EWAX < 101} 2 | (5)
Finite set &x$6 (D) Null set ...gdb © Subsc &rF (B) Infinite set L $tJ (A)
A grouped frequency table is also called . et 95, | (6

Frequency polygon bﬂlﬂl}d)ﬂ (C) anuencydmtn‘buuon (j W7 (B) Data sir (A)
~5 Cunmilative ﬁwuency&stibMon oS8t |
’ e SRSt X | ()
"B Closedfigure Pz (A)
5€62 0= ... | (8)

A frequency polygon is a many sided ...._. g .
Trisngle &4+ (D) Square- 7 () Rectangle

sect 9 N

1-tan? @ (D) J»tan2 6 (C) “'T“ 1+cos2 6 B 1-sin’6 (W)
Thcsymbolforatrimgleisdenotedby q...:/lbg’_él_fﬂfw C)]
= (n) L© A® <w
A tangent line intersects the circleat ... ‘\'. \ <0, S L | (10)
No point at all uﬁ’o’uuu’( (D) Smglqpomt 485.L0 (© TwoPomts 4462 (B) Three points ¢b¥cf (A)
The semi~ circumference and the dmmctcrofgcqplpbothmbtendacenualmgle of ebn UL s adle i | (11)
| 36° M) 270° (©  180° (B)  90° (W)
The measure of the extemnal angle of a mgdarhnxngonu ;..Jxﬁﬂg!g_;u&; gl | (12)
s Ig X © I ® I w
The mnnberofmcﬂxodstosolvcaquaﬂtaﬁc equatlonare WBESLL S S S aiseBnn | (13)
s 3@ 2@ 1@
g q_rlgyfrJ“c.mf(UlJujuL ax’ +bx+c=0 =bl- | (14)
The nature of the roots of equation ax\+bx+c 0 is determined by

Synthetic division (> (#7 (C)  Product ofthe roots . #PW¥L s (B)  Sum of the roots ws ¥ s (A)

Discriminant +47/ (D)

Sum of the cube roots of unity is ;.mfb’h_»alu'_'édﬂ as)
‘ 3D -1 @ 1 ® o
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Q.No:2 Write short answers to any Six ofthe followings ~ 2x6= 12 i L g fditn 24U

Solve by factorization x*~x—20 =0 X-x-20=0 ZESYF 25| i
Define reciprocal equation 2‘,‘-:._;' /7 J .JJL»J - i

12 9
Salve (ZX — E) == (ZX - —) = = gl.'d' m

PX’—gx+r=0 éﬂ“ g st os% b’uJ u,c‘lé_:d' b’ubl/dun iv

Without solving , find sum and product of roots of the quadratic equation sz—qx+r=0
Evaluate (1-w+w")° ‘ (1 -—w+w)f ér}":—f v

Find discriminant 4x" - 7x—2=0 ax’-Tx-2=0 ZePnd5} | i
If 3(4x—5y) = 2x—7y . Find the ration x : y #eP xiy oPin 3x-sy)=2x-7y S| vi
Find a third proportional to 6,12 6,12 ek F | vii

g/l | i

Define Ratio
Q.No.3 Write short answers to any Six of the followings 2x6 =12 54)’ Oy RY 4 /"”’ Lz {cgﬂd)tyu 3 / Jir
‘What is an improper fraction 7 ?{,Gny(/vzu} i
Resolve into partal raction. —"— Eerwb2l | i

Zp# BXB sBXA I B={c,d} st A={a,b} 1| ii

If A={a,b}and B={c,d} then find BX A and BXB

2o A I U={1,2,3,—.,10} ol A={2,4,6,8} S| v

¥ U={1,2,3,~.,10} and A={2,4,6,8} then find A’

xUy ZEriny=d, x=0¢ Al v

(a-4,b-2)=(2,1) 2&r# b o7 | vi

| £y 52 | i

= 2~11500, 12400 , 15000, 14500 , 14800 albstoun? Gy | vil

If x=¢ and y=2' thenfind xuy
Find ‘a’and ‘b’ if (a—4,b-2)=(2,1)
Define Dispersion

The salaries of five teacher’s are as follows 11500, 12400 , 15000, 14500 , 14800 . Find range

el BT Alr g | ix

For the following data find Harmonic mean x| 125814
Q. No. 4 Write short answers to any Six of the followings 2x6=12 54‘)’ .:ul..liz/‘g L le{c_u:dJZw: 4 / Jis
Define radian measure of an angle Z.y/ LeLhafoot |

Ldr Nl — Ly

£=52¢ «0=45 .ééf_{(:"’ iii
(1-sin 0)(1+8in @) =cos’ 6 SZE=ct | iv
Zy S5 | v

13w |
Convert—l—ﬁ- into degree

Find ¥ when® 52 cm, 8 45°

Verify that (1~sin 6) (1+4in 6) = cos’ 6

Define right angle
Define length of a tangent Z /8w | i
Define segment of a circle =/ Gl | vii
Dekigrpeiiione Loy | i
.’.‘! JVL/(}" .,JUJJ:’JI!LUU’U’ ! G“ -n| ix

Write down the formula for finding the angle subtended by the side of an-sided polygon at the centre of the circle

(2:2! JJ,)
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'NOTE: Attempt THREE questions in all But question No. 9 is compulsory

Solve the equation by completing square 11x>~34x+3 = 0 11x*-34x+3 = 0 .éd'd/‘f,.gu}f.sbl/

-5 AU

Inscribe a circle in an equilateral triangle ABC with each side of length 5 cm

c2=az(l+m2)ﬁ£u.n/.l1.gf’u£. +imx+c)? =2 il S 5:«.&‘ (B)
Show that the equation x"+(mx+c)” =a’ has equal roots if ¢ =a’(1+m?)
' 3_,3
Find x in the proportion PP+Pq+q : x 1! PP+Z : (p-g) ,ir)”dt;x Lt 6.4y
S ” 5 6x3+5x2-7 6x345x2-7
Resolve into partial fractions ey ey é&v JJ/ sz | (B)
(A-BY =A'UB JSZ =¥/ B={1,4,7,10} » A={1,3,5,7,9},U={1,2,3.4,5....... 10} A | (1.4
If U={1,2,3,4,5...... 10}, A={1,3,5,7,9} and B={(1,4,7,10) thenverify (A-B) =A' U B
X =60,70,30,90,80,40  ZE Uit Aifaetity | (B)
Find the standard deviations of the data X = 60,70, 30, 90, 80,40
Prove that s cos'6 - sin’ 0 = ( cos® 6 —sin’ @) cos*d - sin' 0 = (cos® 9 —sin* 4 ) :,fé@:t‘ A-8.AJir
1 SO A LS bt ¥ ABC Sl | (B)

Prove that : Perpendicular from the centre of a circle on a chord bisect it q:.t‘/ u:"”J St {/”UJ e /L‘.Jl: T gé'.-f.e

or/|
Prove that: Any two angles in‘ the same segment of a circle are equal wz,m,l/,(?;'u,nguut.}u,-h?u\.{tza‘.;u,;df . e'.{.-a.-t‘

9. AJir
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If ux v’ then Juxv
=k (D) uv?ﬁ":%;l}@)\}w W=k B u=v)

Inaratio x:y , y iscalled N L et y £ xiy o
Mean 2% (D) Consequent (ASy (é)g@?éﬁn Fulf ®) Relation J“’(A)

Partial fractions of m are of the form ... Ly ST 11 § —1—)?;+—2,)
itas © ) Hrm® St W

¢tz AUB IxACB A
ABD ¢ © B® AW
R={(13),22),61),6A) ¢ Range f K
) {1 2,3,4} (©) (3,2,4} B) {1,2,4} (W

If AC B then AUB isequal to

Therangeof "R” is R={(13),(22),(3,1),(44)}

{11 3! 4} (’”(D)_.M
A frequency polygon is a many sided .. 1\ R q_meMLu»ua}’d,ﬂ
Square 8, (D) cﬁa@(c) Rectangle S (B) Closed figure J*£(A)
.%»f ¥t e bllo LUK “x” 2
£
Sum of the deviations of the variable “ x * fmm:tsmmnlsa{wé& SN L /\M“Q/

“\ziﬁ, (D) Two ﬁ““(CZ P}Zu e LiB) One LI

sect 0= . & . ”““v ,:.7 sec2 0= ..
Radiiofacircleae (¢ B, WL AngLl

‘‘‘‘‘

Half of any chord R PR () Allunnqu;ﬁbdv{r‘)(c) Double of&mdnmeﬂ' tve M (B) All equal 440 (A)
Tangents drawn at the ends of diameter of a cu‘cl€ m...;; tB' cach other H&E:\-%-—J;ﬁ‘ﬂﬂ/ézf/w/f_}é‘_/b

Perpendicular 3+ @) «t:ommm B (C)\:;N%@nﬂel $in# 2 (B)  Pamallel (& (A
A pair of chords of a circle subtending two m@fm angle is IR A et e i wi i T S B
Parallel mf%@;) 7 Overlapping 417 (C) Incongruent f > & (B) Congroent /1> (A)
The length of the dizmcter of a circle is hbw;miﬁysmu the radius of the circle q.Jxl'fZ’f Lutule ISP Le s
Four ug”&\%ﬁ?) Threetime e (C) Twotime t (B)  Onetime /Cfi (A
\ “«@j Ok f el St - £ x LAbon

.

Aneqtmﬁonwhichremnimmchmagwhgglsmplwedby Z iscalled a/an

— ‘\

Recxpmcalequanon ..J?k;{)“ (C) Radial equation Asl(fsde (B) Exponential equation eidied |

=M<:«\ 5 None of these 7'} (D)

The discriminant of ax’+bx+c= 0 q...b'mﬂ/J)If ax’+bx+c=0 bl
b—dac () -b+dsc (© bedmc (B) b—dac (W)

Two square roots of unity are LB sies L6

w ® 1,-1 © ,-w ®) 1L,w Q)
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Q.No.2 Write shortanswers toanySix of thefollowing ~ 2x6=12  ZEgfelz P Limgetdits 24U
‘|Solve by'wzaﬁon 5x*=30x sx*=30x LESULE| i
Solve (Zx—- _;:)z = % (2x —%)2 = % zZJ ii
Define quadratic equation /7 Jattann | i
Find the discriminant of the following quadratic equation 4 -Tx-2=0 bt Baning |
Evaluste (9 + 4w+ 4w’)’ | O+aw+aw’y gppad| v
' W +-1120 2o P s oAb udL S fatioBonditn | i
Without solving find the sum and product of the roots of the ﬁ;ﬂuwing quadratic equation I+ 7x-11=0
| Pind moan proportional 20,45 20,45 2P e | il
- Unds 34 s 2P+5: 3P +a S iz P | i
Find the value of P iftheratios 2P+ 5 :3P+4 and 3:4 arcequal
' - y=24 £ 5(11“ xIn x=3 o y=4 ulycc.ifl ix

1
If yx = and y=4 when x=3 Find xwhen y=24

| Q. No.3 Write short answers to any Six of the following 2x6=12 é‘(‘;’ .:a[,lj:/? L.lm,;c_m,bzw 3 /dlr

' Rosolve into partial fuctions - ' s Ef v n|
Define a proper fraction Zw | i
ged XNY In Y={2,4,5,9} » X={1,4,7,9} /1 il

If X={1,4,7,9} and Y={2,4,5,9) then find XNY

If A={a,b} and B={c,d} thenfind BX A Ze# BXA In B={c,d} # A={a,b} 1| i
Find Cand 'V’ if (Qa+5,3)=(7,b-4) Qa+5,3=(7,b-4) Jighel Vv | v
Define intersection of two sets LW Uiy | v
Define class marks Ly | i
Define arithmeticmean gy deade | i
Find the mean of following observations 34,34,34,34,34,34 Lrbdobaialize | i
Q.No. 4 Write shortanswers to any Six of the following  2x6 =12 S eln B Lam gt ditn 4 Ay
Express the following into D°M’ §'/ form 47.36" drPd pMs” 4136 | i
Find 6 when £=2cm,r=3.5cm r=35 4 £=2(7 fgePo | i
Verify that cot 6 sec & = cosec 6 cot 6 scc @ = cosec 6 Lok | i
What is the sexagesimal system of measurcment of angles? sk A Pgdupy |
The length of the side of a regular pentagon is 5 cm what is its perimeter Sl It SJU«!&'} CJ’ f” L v
Define the inscribed circle Zy b | i
Define projection . LSS | i
Define tangent of a circle Ly luwlesn | vii
Define sector of a circle L yfELen | i

(g’é‘ i JJJ)
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NOTE: Attempt THREE questions\in all But question No. 9 is compulsory

Solve the equation using quadratic formula fﬁ—i - = 23 o Sy 25 ES eI lirion NP
e 20D xr (ks a)=0  Zppred k Junassnlciotitnli | (B
Find the valuc of k ,ifthe roots of the equation arc equal ~ x'+ 2 (k+2) x + (3k + 4)=0
p e O S ML g Yrs L | Wi
. . . m+5n  m+5p _ 10 np
Usmgtheoremofcomponendo-dlwdendo.ﬁndthcvalue (?f — + — if m=""
. . . 9x -7 ’ Cex-7
Resalve into partial fractions -2 L L o e B2 +1)—~ cﬁ-f‘k?wu:/du ®
ZJASB-A=BNA" 7 B={1,4,7,100 » A={1,3,57,9},U={1,2,3,4, 0 10} Ji | (W14
{12533 & secnseres 10},A={1,3,5,7,9} and B={1,4,7,10} then verify B-A=BnA’ ‘
g Attt Ao Pep Lo g | B
The marks of six students in Mathematics are as follows. Determine standard deviation
N Students No 123 ]4|5]6
Au/ S Maks 60 | 70 | 30 | 90 | 80 | 42
Prove the identity (tan 6 +cot0 ) (cos@ +sing) = sec 6 + cosec & é:z;t‘f.afl./ -8.AJr
LL‘IUI;KJDJ/’UVS mt‘;fc— B » A LB’L'JMJVA/G{6 4:))
Describe a circle of radius 5 cmpaasmgthmnghpomts AandB 6 cm apart T . T 8 T
Prove that : Perpendicular from the centre of a circle ona chord bisect it q..t‘f S St 4}':0} e pledn: Ji 2‘5.:4!.‘ -9./Jlr
or/}
“:_t'xL'f»c_dr;U;/ Lnﬁfdf,‘jw‘w‘;ﬂﬁg,l}d}r /Ub&'_c_,o/.“ Ji. u:;_jbgf( 1 S é.:«;?
Prove that the measure of the central anglo of a minor arc of a circle, is doublo that of the angle subtended by the
corresponding major acr
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